[bookmark: _GoBack][image: ]

[image: ]
[image: ]
image1.JPG
14 km

65° N of E

1km

6 km

FIG.P3.8

13km





image2.JPG
310 km at 57° S of W

R

P39

=20 km)

: 1 unit

FIG. P3.9





image3.JPG
®)

Using graphical methods, place the tail of
vector B at the head of vector A. The new
vector A +B has a magnitude of

6.1at 112° | from the x-axis.

The vector difference A — B is found by
placing the negative of vector B at the
head of vector A. The resultant vector

A - B has magnitude | 14.8 | units at an

angle of 22° | from the + x-axis
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